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SN HEES
M FO=NEA(MUNS)(YUDDHE /Y )
el Fol=x A CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
09 HAIAHI EAZ 10,440 3,200 7,240
OXIMZEA HR=X 3,200
OF0XXHEH 24 7,240
—ZOXKAY 2Y+Y
20,000 25 15| x12& 6,000
~FURXSE NASA S
10,000 x 1 x 124 1,240
12 JIEtE2 A= 18,600 0 18,600
O0l& s&E s 50,000 *31 x123] 18,600
307 QI2t0| & 3,600 3,600 0
03 It HEESIHIEX 3,600 3,600 0
ONiDIS22s SsHsSE23 24| 1,200
OMDOI22s S¥Hs®4Hs &%l 1,200
OttgeAales sHsE23 294l 1,200
401 A& HI L 2 0HHI 1,500 1,500 0
01 Al&H| 1,500 1,500 0
OFAF ZE 4 22 € FHy| 1,500
405 XHAHF S HI 22,000 21,000 1,000
01 XA 2 ZF S| 22,000 21,000 1,000
OXE WHH) 21,000,000 = 1CH 21,000
Oolgg 2sA0H(10) 1,000,000 = 1CH 1,000
AR ENE(AHES )R ELXNGNL /NS LAl 250,700 150,500 100,200
FOI=J A 250,700 150,500 100,200
FO0l=2AAIS 250,700 150,500 100,200
401 Al HI L 2 0HHI 250,700 150,500 100,200
01 Al& b 250,000 150,000 100,000
O=Z0tS &8RN Z4Z2A 30,000
Ost&0ts A8XY HH & 2@HXH 50,000
OSBXANE A =XE X4 40,000
OH=EE =2 FHHI(L=200m) 30,000
OFE20t8 =42 AHd|(L=300m) 20,000
2202 22 A H| (L=300m) 20,000
O2=2 H& &4 (L=60m) 30,000
osdots 2 A 30,000
03 AlE 21| 700 500 200
OF0I =AY HOAIS oA 700
SHESAAH (MHXS)(IIEH/DIE 296,646 307,009 A 10,363
olad 2 A Y| 146,000 147,165 A 1,165
ol A | 146,000 147,165 AN 1,165
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chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
101 @l H] 146,000 147,165 A 1,165
01 2=+ 146,000 147,165 N 1,165
Ozxuz=2=¢ 146,000
— 63 11,4013 »55 A1 2t 123 6 45,148
—73 10,2993 «55 A1 2 x 128 8 54,379
— 83 9,2463 *55A| 2t 128 x4 H 24,410
—92 8,357 & *55A1 2t x 128 x4 & 22,063
=38 150,646 159,844 A9,198
o= | 150,646 159,844 ~9,198
201 fet23E | 59,896 58,504 1,392
01 Al 22/ 43,896 42,504 1,392
Oget=SH| 1,772
—ARd =SH 11,772
o=2g=+¢g 14,460
— g - =53y 14,460
O=&Hl 17,664
02 224l 16,000 16,000 0
0532 £ MA 16,000
— A2 16,000
202 O 4 78,660 82,080 A 3,420
01 =LHO I 78,660 82,080 N 3,420
O=Uotl 78,660
203 IR =Yl 12,090 11,760 330
010 22dgRFAH 6,890 6,600 290
OJ&a=2g g2xd 6,890
02 & otatg 24| 1,000 960 40
OZ AL & = 40,0002 *25& 1,000
04 BN2HAREAY| 4,200 4,200 0
ORNEg 2T 350,000 = 12& 4,200
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SN GtES
M Q=N (cHEE) (LS BHTY /Lot y)
CHel: FUSIHN (Cel:dd)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oel® &oi3 200,0002 *33% x22 13,200
ORIE 8lo&A4g 20,0008 *33 +25| x 128 15,840
oerasg 25,0002 x93 *23| 4,650
09 BAIAHIZ & 3 12,420 3,200 9,220
OXHZe H2EX 3,200
FUXXME 2 9,220
12JIEI2 43 19,800 0 19,800
o0l &g st 50,0002 +33% x 128 19,800
307 @I2tol & 3,600 3,600 0
BRI HUZ AL EX 3,600 3,600 0
OMOlS2E SHEE2s 29 1,200
OMOt22E SHERHS 22 1,200
otf2Aalles sHs8As 294 1,200
401 AlEHIZL 2 THHI 1,500 1,500 0
01 Al& ] 1,500 1,500 0
OFA 23+ oel & Fl 1,500
405 XtokF SHI 30,000 0 30,000
01 Hat L SZHSH| 30,000 0 30,000
ozsxe nH 30,000
ARASTAML (L E)NFELNAML /AL T A 195,700 150,500 45,200
FU=FA 195,700 150,500 45,200
FOURAAY 195,700 150,500 45,200
401 AlEHI L2 b 195,700 150,500 45,200
01 Al Hl 195,000 150,000 45,000
OS24 HI&E HHlSAH(L=45m) 30,000
OME 52 =HIZFITAH(L=40n) 30,000
O hAF 52 I AH(L=200m) 30,000
OmY %S =2 ZEZIAHL=200m) 25,000
OY& ot OtAR E &I AH(L=250m) 30,000
Oslal 52 JtE Y & XIS AHL=210m) 20,000
ORY =& M& ZHlS3AH(L=25n) 30,000
03 Al& = THHl 700 500 200
OFU=AAY AAAE o 700
HY 2L AU (St E)(IIEH/IIEH 275,478 284,911 9,433
ol 2oy 125,468 128,465 ~2,997
o 2ay| 125,468 128,465 ~2,997
101 1244l 125,468 128,465 2,997
01 24 125,468 128,465 2,997
Oxn224¢ 125,468




2N st S
M. HNSHBH (ot S)(JIEH/IIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— 62 11,401 & *55A| 2t x 128 x5H 37,624
72 10,299 x55A| 2t x 128l 6 H 40,785
— 8= 9,246& x55 A 2t x 128 x5H 30,512
— 92 8,357 & x55A| 2t x 12 x3Y 16,547
| =&l 150,010 156,446 N6,436
Jl2&l 150,010 156,446 N6,436
201 LEt2 Y| 57,340 54,236 3,104
01 AR 22| I 41,340 40,236 1,104
Ogst2H| 11,520
— AMRA =Z2Y| 11,520
ozg=s4Y 14,460
— 2 - =AY 14,460
OZ &l 15,360
— 2 &l 15,360
02 33294l 16,000 14,000 2,000
O332=2 % HAl 16,000
— AIR 4! 16,000
202 04t 68,400 71,820 N 3,420
01 2LHOHI 68,400 71,820 N 3,420
O =LA di 68,400
203 R =&lY| 11,970 11,640 330
01 J|22I PR =&Y 6,890 6,600 290
OJ&a2dg gRF=&A 574,160& = 12& 6,890
02 R R =AY 880 840 40
(OESEEDNPIPSESS 40,000& x22H 880
04 ENSI R =AY 4,200 4,200 0
OFRN2Y gRF=&A 350,000& x12& 4,200
405 X+HoHF SHI 12,300 18,750 AN6,450
01 A&t = S F SHI 12,300 18,750 N6,450
O&sE0F DI 12,300, 000& = 1CH 12,300
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FA 25U
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ool FoSXEE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot g 25,0003 x52H x23| 2,600
09 &AL HIZB A S 11,700 3,200 8,500
OXiZH g2=a 3,200
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12JEEd = 13,200 0 13,200
ooy s#d&stl 50,000& »22H 12 13,200
307 glz2+ol & 3,600 3,600 0
03 QIAHMNHE2IHIEE 3,600 3,600 0
OMOI=2s Ss8s82s 29l 1,200
OMOtS2s SHSRUHE 29| 1,200
OttzANaII2s sHsSE2s 24 1,200
401 AIEHI L 2 CHYI 1,500 1,500 0
01 A& HI 1,500 1,500 0
OFMZE=> 22 & FHl 1,500
405 XHoHF S HI 26,000 43,000 A 17,000
01 HatL ESFH S 26,000 43,000 A 17,000
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Ogs&H 7 5,000
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2N NS
M FOSNEA(ASH)(YUDDHE/AUH)
el Fo=XEE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFQUXXHEEH 29 7,300
12 JIEtE 43 10,800 0 10,800
OO0l &&=l 50,0003 x18H 123 10,800
307 gl2tol & 3,600 3,600 0
03 BIAHMHE2IHIEL 3,600 3,600 0
OMOtS2s SHSE2A3 29| 1,200
OMOI=2s sBEsRUE 29l 1,200
OH2AAII2s SHSE2s 2l 1,200
401 A& HIZ 201 I 8,200 1,500 6,700
01 A& HI 8,200 1,500 6,700
OFAI HIEHEY 2= 8,200
405 Xt&tE SHI 21,830 13,200 8,630
01 AL EFH S 21,830 13,200 8,630
OAESHES I (1O) 21,000,000 = 1CH 21,000
OATS(10h) 830,000 = 1CH 830
AASRNENL(ASH)(ZEL XML /AL Al 150,500 100,500 50,000
F =AY 150,500 100,500 50,000
FU=R ALY 150,500 100,500 50,000
401 Al HIZ 201 I 150,500 100,500 50,000
01 A& HI 150,000 100,000 50,000
ZHU =2 HdlSAH(L=80m) 30,000
O2L==2 FHl3AHL=80m) 30,000
Oz =t THI &I AH(L=500m) 30,000
OZ =& HHI3AHL=30m) 30,000
Of&s2 FUIS3AHL=100m) 30,000
03 AIE =2 THHI 500 500 0
OFUSHAY AAAE GHA 500
HAE2AZH (&4=H)(IIEH/IIE) 180,206 176,376 3,830
el 2 81,980 78,108 3,872
ol 2| 81,980 78,108 3,872
101 14l 81,980 78,108 3,872
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